2hTID) 2= AEHE Th(7I0 SEHE AZh(N2) B2l 000 Z48E2 5 (CH|H &)
il = ] At o FHLA | Ao = 2t ]
[ [ _— = [==] ,J\ - =
@&y | A g = (8) ®) (4-5) 4 &8 I =
700
Mo MEHE R1.000,0000 44,000,000 7,000,000
710
ZgHE RO,274.582( 42,350,378 7,924,204
T2
HAH| 2,474,305 945, ER 1,528,736
T2-100
oI 2T 550,055 710,87 133,173
T2-101
Bz 288,279 233,417 54,812
162,555 141,824 20,731 7122 (01-1)
Q2a[+E2r|E] {148, 226)
o B2(20) 22149003 X121 X128 = 2650
o fatlh) 1,843,900 %221 X123 = 44, 2hd
o A3 1,206,000 = 221 % 128 = 30,554
o 33011 1,291,900 * 320 X128 = 46,509
OK-IJ l‘
148,226,000 % 0.8 % 1/12= 5,862
o Fa ) Falal
148,226,000 % 3% = 4447
5,539 28,689 27,3508 &2 (101-2)
QEZFEIHEFEIDHZEE) (5,640
o 15~2040) 0t B0.000F =321 X 128 = 2,880
o 10~1940/2 BO000# X320 X 128 = 2,160




ER(T00) 2= AREHIE Zh(TID 2RHIE ATR(2) S S0 EnREs (CH3| )

il = AFOH F{LA = | AOH = 2t ]
@&y | A 2 =1 "% |T® | W oog oz
o b 10A0(2 B0.000E =121 X 128 = B0
S+ (2,069)
o ba(20) 1063105 = 121 X 128 = 1,276
o 32013 B6.0B0F = 121 X 128 = 793
OHERE
b 000 X821 % 254 X 128 = B.096
QRAEHIE S (2,066)
o JSEH 363, 700# * 821 % 015 X 43 = 1,71k
o ETHM 47,700 %920 % 0,19 X 42l = 291
QS+0F=E (5, 280)
o =0 40,0008 X121 % 128 = 480
o AhACHOTEY ACH R0.000F » 821 X 128 = 4,500
AUSHEE)
30,000 * 821 X 128 = 2,860
GAZRRZRSE (32,608)
o B2 B0 X 121 XE0AIZHX 128 = 4,822
=1 T20E W22 X B0AZE X128 = 8,62
0 02 B461# ¥ 200 X E0AIZH X 128 = 7,704
o 92 57942 X 320 XE0AIZE X 128 = 10,430
o HEMN&HI 31,656,000 * 3% = 550
12,480 12,480 O] B 248 (101-3)
QEUZAH|
130,0008 %621 X 128 = 12,480
11,880 10,480 1, dDDP | (101-4)
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BR(T00) AT AKZHIE Th(TID) SYHIE HZRME) 2l S0 B3
g ] At oK HACHAMM | = 2
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@y | M B = (8) ®) (4-B) & &8 ) =
OB~-72
130,000 % 301 X 128 = 4,530
0 8~0z
120,000 %521 X 128 = 7,200
14,823 13,195 1,626 2EEIH (101-5)
OEEFIH
148,226, 0008 %1412 % 120% = 14,823
24,705 21,204 3501 [ AR (10-6)
QIPFIE]
148,226, 0008 % 1412 % 200% = 24,705
5147 5,545 AJE w s S (01-7)
oI L]
148,226, 0008 % 112 % 1/24 X 102 = 5147
2102
H DA AY| 19,200 19,200 0
11,570 11,520 O] Z2EZH) (102-2)
Q62
155,000 ¥ 191 X 128 = 1,860
=,
140,000 ¥ 291 X 128 = 3,360
oi-15
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7,680 7,680 O] S22 248 TE (102-3)
OZIHENESRY
80,0008 X 821 % 128 = 7,530
2103
HIE A2 2 E42,626 458,250 84,367
535,209 448,566 86,243 JIEHE S 2 (103-1)
QTSI
1,706, 30084 X 1021 ¥ 128 = 214,356
eyl e
214,366, 00021 X 1/6= .76
QEZsY
214,356,008 ¥ 1.0°% 1/12= 17,863
QEZSIMBIEIDINSEEY (12,240)
o PEA|AF 130,000 % 321 X 128 = 4,680
o 2~2RA0/0 10,0002 X321 X 128 = 3,960
o 15~20K40| 8t B0.0008 %321 % 128 = 2,830
o 10~1540/0¢ B0.0002 X121 X 128 = 20
ORAEH 2 E LG (2,582)
o DStk 308,700 % 1020 % 0,15 % 43 = 2219
o STHM 47,7008 % 1020 X 0,19 % 42 = 33
QYUUZESHEE)
30,0008 X120 % 128 = 30
QST UF S AFTHR)
30,0008 X 1021 ¥ 128 = 3,600




IR0 T ARHIE RO 2BHE HTR(N2) E=dl S0 HE A2 (CH| &)
5= CRTE BTN T 4 5 9 oz
<2y B W = ) (B} (&-B)
QA 2R
B, 1328 X 1020 KE0AIZH X 128 = 0,792
QOKRZEE
16,3528 X521 X 172 = 9.566
OSIUFHESY| (9,600)
s SNUEMSRH 30,0008 X 1021 X128 = 3.600
o (HOIEEH| B0.000F X 1021 X128 = 6,000
OFEEFE
46, 1938 X 52 X 1172 = 21,023
QIR
214,356,000 X112 % 200% = 35,726
CEERIM
214,356,000 X112 % 120% = 21,436
QU2 A
214,356,0008 ¥ 1712 % 1/24 X102 = 7443
GHFM Y]
214,356,0008 X 3% = 6,431
oEUZAY
130,00024 %1021 X 128 = 15,600
QuUEZZH|
120,00024 X 1021 X 128 = 14,400
QEZE T
1050008 %1021 X 128 = 12,600
QUi==Ea
294,475 4008 ¥ 85/1000= 25,031
oUizEl=
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— [ — = = ,J\ o= =
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294 475, 4002 X 2 576/100= 7,58
OEmagRa
294,475, 4002 X 2, 7968/100= 8,23
OHUEHRES
497 £32. 16024 X 2,105/100= 10,476
CHEARE =
294 47540024 X 0 182/100= £
2,100 2,100 O 2 AR 2 (103-3)
CUTHEERE gA8H U5y
42,0008 X 1021 ¥ 53| = 2,100
5,317 9,193 ASETE] 22128 8 4 E A3 (103-4)
G2
7200080 X 201 % 128 = 1,728
Qaz
1,726,002 X 4/12= 576
GLEH|
1 B0 % 201 X 202 X 128 = 893
QT4
4,008 % 201 % 202 K128 = 1,520
QL=
50,0008 X 291 X 23] = 200
Hz-z00
S| 151,463 144,783 6,680
T12-2M
L) 23,120 26,560 43,440




(100 g+ AEHIE ThID SEHIE AThTZ) S8l =200 2E=2H (T HA)
dt = o & HAzpdy | 2 A E2 I =
By B Mg = (4) (B) (4-8)
22 000 25,300 &S,SDEIn Udk=2H| (201-1)
O+REML ZE2E 2
100 = 20.0000H = 2,000
CZZAILRIS AL 2
100 = 20.0000H = 2,000
CHZIZ M2l
150,000 X 108 ¥ 128 = 18,000
1,120 1,260 A0 22 42 (2n-4)
OrEEVAHE AT
10,0008 X821 X 28/ = 1,120
Te-202
A EFHI =M 30,500 20,600 8,700
29,300 20,800 B.5000EY AL TSR 2 44| (202-1)
QUSFLAZS Ex+=E20 7RlY|
6,000,000 X ZH == 12,000
QrEa A | 7R
1,000,000 X 33/ = 3.000
OFEUSEEY Exda
1,000,002 X 2% = 2,000
QIFAHIEEEY)
2,500,000 % 104 = 2,500
QurEEz- S T L7
1,200,000 x 43 2 = 4,800
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O T ARRIAI AL 22 4H]|
100,000= % 128 = 1,200
T17-203
Scl=4H| a0,094 29,011 1,083
23,335 23,134 20 n HZEEZ (203-5)
QU=RE=
168,195,000 = 85/1000= 14,297
QUzZENz
168,195,0008 ¥ 2 576/100= 4,333
QEA+EREE
168, 195,000= X 2, 7968/100= 4,705
£,452 5,560 B9Z[f) 222 SRS (203-6)
QHYEHSE2
306, 478.0002 % 2 105/100= b. 452
7 317 AT S &M 242 (203-7)
OHHEARE2
168,195,000 & 0,182/100= 307
712-205
mH| £.400 8,600 A1.200
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oo ZREY
20,0007 X120 X6 X128 = 1.200
CorHEEAE Ao HE
2000 X220 102 X 128 = 4.800
or2lEHeS 2R
20,0003 X 200 X B W 128 = 2.400
T12-209
W& 58,349 BB,612 b7
16,400 16,300 100 ZEHH EHI (209-1)
QHFARRZ 2| =202 20I1E)
5000 » 160K % 2H 4 % 23] = 300
QAEHSE T 7L
55,000 X 20HFA X 33| = B, 700
OrZAHE 2R 7Y
100,000 X 80Z = 6.000
QrEAYE It FE
200.000F %65 X 25l = 2.400
42,949 42512 437 %EH) (203-2)
Q22 HAHE SEH
1965708 X 168 = 2.949
Qe AZRUEMES L A HEUIES)
200,000 X 100& = 20,000
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O+ESRE AHYE
2000008 X 102 ¥ 43 = 6,000
0T UE
2,000,0008 ¥ 63 = 12,000
Hz-300
ZH0IE 1,472,877 90,000 1,382,877
T12-303
DIZHE A0 1,472,877 50,000 1,382,877
90,000 90,000 O 222 &% % (303-6)
OU+HSTAR(EN ZZUE HIZTIH
20,0008 % 1500742 = 30,000
QUTEEZPEENBEEEE Ha
200008 ¥ 3000742 = 60,000
1,382,677 0 1,362,677 DIZHRIEHTHE AL (303-9)
QISHES S 2|
116,239,679 X 128= 13826
Rk
HH Hl 2,003,167 1,856,635 145,532
13100
oI S| 554,457 563, 067 31,375
131
AT BRd, 102 532,727 31,975
305,455 260,453 2, IIIDEP J1EZ (101-13
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<2y B W = ) (B} (&-B)

CIZS(ERAILZE) (278, 566)
o b=(2h) 24031008 =220 X 128 = 516N
o 1200 1.996 600 = B2l % 128 = 143,756
o A2018) 1,726.900% =300 X 128 = B2.169
o 33010 1247100 %121 X123 = 14,965

OHZE
£76,066,0002 X 0.8 % 1/12= 18672

OHENAH|
218,566,000 X 3% = f.3h7
137,609 138,089 &EEDn 22 01-2)

QEZ SIS EIDHE EE) (14 520)
o 200l 130,0002 X421 X 128 = B.240
o 20~25A0(9F 100,000 =421 X 128 = 4,800
o 15~20H0[3F B0.000& X321 x 128 = 2,860
o B~10A0]8¢ RO000 121 X128 = 1]
CUR+E (2.286)
o T2(2d) 101,850 %121 X128 = 1,223
o =t lh) BE.RO0E %121 X128 = 1.062

QIESE
2 00 = 1221 % 2,54 X 128 = 5144
QiAZHIEE LS (3,098)
o U ST B0 % 1220 2 015 % 43 = 2,67
o ZaHM 47,7008 %1200 % 0,19 % 431 = 1%
o e (7.320)
o JEEEREUKE 2T BO000F 121 X128 = 70
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o HaTEREH AR F0O002 % 1121 % 128 = 6600
FESEHLE)
40,0008 X921 X128 = 4,320
O 2ReE (50, 707)
o B2 0,036 W 200 WE0AIZH X 128 = 9,644
o Talh) 12108 X B2 XR0AIZE X 128 = 25,956
o B2 B4R13 X 300 XA0AZE X 128 = 11,630
o 9201 B 7942 X 190 X RDAIZE X 128 = 347
QHUZRSE 2R (46,295)
o QEPP2CACH 19,2203 ¥ 521X 365 X 1/3= 11,69
o EUIOACH 43138 X B X N7 = 317
o H2MHAH| 94,185, 2808 X 3% = 2826
18,720 17,480 1, 24008 =4 24| (101-3)
GEHMZAH|
130,00084 %1221 X 128 = 18,720
18,240 18,360 AU IESZH (101-4)
QE~73
130,000 X821 X 128 = 12,480
Q8-32
120,0002 =420 X128 = B 760
27,857 23,638 4,219 2R EMH (101-5)
SEERH
270,566,000 #1/12 = 120% = 21,857
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278,566,000 ¥ 1/12 % 200%= 46,428
9,673 11,543 A 170 Bk S C10-7)
QU A
278,566, 000 % 1712 % 1/24 % 102 = 9,673
102
O] 30,360 30,360 0
18,840 18,840 O =25 ZH) (102-2)
Qb
55,0008 % 221 % 128 = 3720
G672
140,008 X621 % 128 = 10,080
ot~32
106, 0008 X421 % 128 = 040
11,520 11,520 U] EX R4 HE (102-3)
QEUTAERY
3000020 1790 X 128 = 11,520
TE-z200
S| 1,408, 705 1,293,545 115,157
32
U2 | 164,580 123,960 A0,620
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OHI|2HRR| HH=Z
300,0002 & W2 %128 = 28,800
ORI EHR
160,0008 * 14M 4 X128 = 26,540
ORI ADE +47
B00.0003 ¥ 25 = 15.000
QEIL HIE BV HM =53
1,000,000 » 2 == 2.0
Qs AEE HTRH 222
40,000, 000= 12 = 40,000
39,300 28,240 11,650 2Za2YH A (2013
CHEIN MEZ
B5,000& ¥ 45K 4 X 128 = 35,100
GUHHHE AER
800002 = B0 % 128 = 4,800
2 000 I 2,000 W=t (201-5)
QEUZULNL Uet=s 3 Astg 1Y
200,000 X103 = 2.0
10,000 10,000 O 272 @01-
OF & atEel =28t
1.000,000& * 102 = 10.000
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2 8 W =z (4) (B} (4-B) - = =
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A ETH ST 433,500 338,000 35,500
81,500 BE,500 15,000 NELTHAST 2 40| (202-1)
CisTAdE FH HERY
10,000,000 X 43| = 40,000
QEUZAIAAY FTI22 |
2,000,0008 X 128 = 24,000
QIEHEHIEHEEE)
2,500,000 % 104 = 2.500
OEZHH 4Rl HIHZ 0| Z 2 A}
10000081 ¥ 150m = 15,000
20,000 0 20,000 =2+ HH (202-4)
OZZIHE Tohf2 DAlZ A
5,000,0002 X M 2= 20,000
332,000 331,500 SO0JR) JIEF DA (202-5)
oEIY T HIEH 2L
10,000,000 X 33 = 30,000
QIHEH B ZIge s
10,000,0008) 33 = 30.000
QiR 2+ FEHR 4
26,000,0008) X 23| = 50,000
QTS SEAAH 21ZS7Y|
5,000,002 X 53/= 40,000
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it = | L HAZH A = d 4 = 7 =z
<2y B W = ) (B} (&-B)
CHEEST HEEA
5,000,000 X 5== 30,000
FHIMLE
5,000,000 X 1= b.000
O AR H2[H=Z 0|2
40,000 & 200m = 6,000
QAR = 7H mAHl
3,000,000 X 2K = 18,000
QA 2EE 014
1,000,000 » 50H 2= 50,000
CHEZ NEEAA 272
1,000,000 * 42| = 4,000
QAR T HILL 4 &
b.000,000# X &M= 12,000
QbR E &5 MU 2L ZE 0
B, 000,000 X 5H 4= 25,000
GESEHHET 4T A
30,000,000 ¥ 194 2= = 30,000
203
Sc|Z#H| R7BZ5 7,088 537
44,397 44,817 &ﬂ?ﬂn Hasea (203-5)
ghzRE=a
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QHZEHZ
320,014,0002 X 2 576/100= 0,244
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@y | M B = (8) ®) (4-B) & &8 ) =
SEEEEE S
320,014,000 2, 7968/100= 8,951
12,645 11,622 LOZIE] A2 EH L2 (203-5)
oHZRHEEE
600,701, 0008 2, 105/100= 12,645
5Ea 54 ABEE] SR AT 43 (203-T)
O 2 ARE2
320,014,008 0, 182/100= £43
13205
ol 000 3,000 3,000
5,000 3,000 3,000[E] 202 20 (205-1)
OHFTAEE THEE
20,0008 X 521 X 62 ¥ 128 = 6,000
3206
Ry ] 20,000 0 20,000
20,000 0 20,0000 =7 2 H| (206-1)
QRHHIE LA T2k A1) EIFE A E 2
10,000, 0008 X 274 4= 20,000
3209
EE] 727,000 711,500 15,501
43,000 27,500 18, EDDF THEHI (208-1)
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o T = (4) (B) (4-B) &8 J o=
QRIARHE 3 H2 =M
200,0008 ¥ 705 = 14,000
OE4E 3Y2Y
00,0008 3 20H £ = 14,000
OIAET MY
300.0008 ¥ 50Z = 15,000
654,000 684,000 O =281 (209-5)
QDU [ HEG2
57,000,000 X 128 = B34,000
T4
24H| 33,404,408 30,893,055 2,405,353
T14-100
pEEEy) 1,313,908 876,556 437,321
Ha-101
HAzEA 574,931 538,877 16,059
337,858 309,30 26,5560 2122 (101-1)
G E2gigrE T2iR) {308, 076)
o F2(30 28631008 ¥ 191 % 128 = 3,358
o B2 2,375,800 X 201 X 128 = 57,020
o T2{20) 1,996, 6008 X421 % 178 = 95,837
o B2(16) 1,654, 0008 X 421 % 128 = 79,392
o G2(8) 1,151,9008) X 321 % 128 = 41,49
oHZeY
308, 076,0008) ¥ 0,8 % 1/12= 20,53
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[
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OHF AL
308,076.0008 X 3% = 9.243
B ~= 102
QEZTEVHISEIDHIZEE) (14,040)
o R A 130,000 =421 X 128 = B.240
o A~2R40/0 110,000 =321 X 128 = 3.960
o 15~2040|9 B0.000 421 X 128 = 3.840
QUF+E (3,733
o B2(23) 11,1808 X121 X128 = 1.3
o 12007 105,510 X121 X128 = 1.267
o B2 94 24020 X121 X 128 = 1131
QIEFE
2000 w1420 2 54 X123 = 10,668
e E LR, (3.614)
o DETH 369,700 X 142X 015 X 45 = 3.106
o SEHM 47,7002 X 1421 %019 Xz = 15
G=xdFe (8, 880)
o =082 40,0002 %121 % 128 = 480
o xR EYE B0000% X 1421 % 128 = 8,400
QAIZR LS (B0.326)
o 52 94718 W10 XE0AZE X 128 = 5,643
= 00363 % 200 WEDAIZE X128 = 9,644
o 1= T2108 ¥ 420 X E0AIZH K 128 = 17.304
o B2 BAGBIR X 421 X B0AI2H X128 = 15,507
= BT94E W 300 WE0AIZE K 128 = 10.430
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o HRHAH 58,566, 0008 X 3%= 1,758
21,840 20,720 1 1Z0[E] = 2 AH) (101-3)
OTUS |
30,0008 5 1421 % 128 = 21,840
21,120 18,560 2560 WEEZH) (101-4)
Qb2
140,0008) X 191 X 128 = 1,580
O6~T3
13000080 X 691 X 128 = 9,360
08-32
120,0008) % 721 X 128 = 10,080
30,808 29,589 1,219 HEEIHI (101-5)
QEEEIH|
308,076, 0008 % 1/12 % 120%= 30,808
51,346 50,102 1,244 BRI &1l (101-6)
Q7RI ]
308,076, 0008 % 1/12 % 200% = 51,345
10,698 10,759 AR or2 24 (101-7)
Q212 A
308,076, 0008 ¥ 1412 1/24 X 102 = 10,59
n4-102
AT L) 47,450 44,160 3,300
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@y | M B = (8) ®) (4-B) & &8 ) =
1,200 1,200 O 22T 222 (102-1)
e 1=
100,000F =121 % 128 = 1,200
22,260 20,880 LEBDU HZE 2l (102-2)
e 1=
2500008 w121 % 128 = 3.000
Qb=
155,000 % 201 % 128 = 3,720
e F=
140,000 » 401 % 128 = 6,720
QE-32
105,000 » 701 % 128 = §.820
24,000 22,080 LI SR8 EE (102-3)
QSIUEMERE
80,0008 X142 X122 = 13,440
C=THED IgeFH
80,0008 X621 X128 = B, 760
QTR HIERE
80,0008 X521 X128 = 4,800
T14-103
HE A 2 F31,515 293,553 397,962
FiRA, BRA 285,140 a9, ?1EP MELE 2 (103-2)
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Cll=a
23,0008 X 1521 X 365 =
WESILE
JTEI0000 X 1/6=
Cdc+d
FTA0.0002 » 1.6 X% 1/12=
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LEHEEES
Be 2007 X 1520 X 42 X128 =
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0INELY

2000 = 2,26 1521 X128 =

o ST 3006008 X 1520 X015 X dgl=
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50,0002 x 1521 X 128 = 16.200
CLE2ZH|
120,00024 % 1521 X 128 = 21,600
OIAIZZH|
110,000 #1521 x 123 = 19,500
C=SHI(ZA)
10,0002 X152 X 128 12,600
OrAH|
375002 ¥ 1521 K 128 = 6,750
O 78|
5,000 ¥ 1521 % 128 = 13.500
QAR =]
78100008 ¥ 112 % 250% = 4,544
QEERH
78100004 ¥ 112 % 150% = dd 727
GALET
40,0002 ¥ 1521 = B0
Qo=
15,0008 = 1521 X 28] = 3.450
O7|B=S2 (26, 648)
o 201H2 295,020,000 & 4.5% = 13,276
o JEHEHE 295, 020,0008 % 1,3%= 3,836
o MEHE 295,020, 0008 % 3,3% = 9,736
2,6R9 4,413 ALTER ZU2R R A A2 (103-0)
PE=t=
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BR(T00) AT AZHIE THID) ZYHIB HTHTIY S5 S0 HEFZEL (42

[
[do

of = AL O HA S| A z =
<2y 7 W& 2 g ?ﬁ; hh(EBTL_' C&#«—E) &g o=
T2 0008 X121 X128 = o64
CAHHE
B64.0008 x 4/12= 2as
o JME=]
18602 % 100X 202 x 128 - 47
CZ 4|
40008 X 120X 202 X128 = 560
OI=H|
B0 X121 % 23] = 100
T4-200
=2 &Hl 32,067,902 30,116,370 1,951,532
T14-201
Q2| 70,815 Bg,310 12,508
35,616 3,200 4.41 En Adk-2H| (201-1)
GExHOrER (25,000)
o BHIE 100,000 X 15004 = 15,000
o JEH 1002 % 10000004 = 10,000
CEVNEER #2
18,0002 ¥ 120 = 216
QrTHED AP
200.000= 1021 = 2.000
QGISAEEE U
BOO00H X 2E X 8= 4.800
OTtZEE Y3FHEL|A
180,000 % 200 = 3,600
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[
[do

EH(0) 2= AREHIE ThTID EHIE AZhT4) S8 (20 28 3H {CH3[E
%

Ut = ] At o 114 S| A = 7t
— [S R —_ L= (=] ,J\ = =
@y | M B = (8) ®) (4-B) & &8 ) =
10,400 10,550 AISOE ZZ222HA (201-3)
O=Elaz
70,0002 x &K = 30
CUEHZ| M E Stas
80,0002 500 * 128 = 4.500
OURFNE 2EIY
1904 ¥ 1500004 = 2,640
QIS EHE BENATES
480,000 X 5H = 2.400
4,950 4,600 150|E) =2 (201-6)
QoI THLIS AU =FAt
B000H X 3321 X 30E = 4,950
14,864 11,760 3104 2AE @n-7
QHlda =t Yat
400,000 ¥ 20z = 8.000
GIlE gt
10,0008 =300 X128 = 3.960
QAR Uit
2420008 =10 X 128 = 2904
4,958 I ﬂ,EIBBn HEH| (201-6)
orerelE e
o0& X 5l X 1058 = 4,588
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Bh(T00) A4 AIRIHIS ThTI0) SHIE HERNY S2H S:200 NEEH S| (CHY| R )
Ut = ] At o FHLA | Ao = 2t
[ [ _— = [==] ,J\ - =
@y | M B = (8) ®) (4-B) & &8 ) =
a-z202
AETHISTH 1,174,400 916,000 258,400
14,400 10,000 44000 NETHESTI S 4 (202-1)
OF M2 ST
2000008 ¥ 142 X 33 = 5,400
QAL EEE)
2,000,0008 ¥ 30H = 6,000
56,000 0 BE,DDDP %EEEJE.:.” ST 2H| (202-
QT TYR(ALAY RRZS
20,000,000 % 144 = 20,000
Qi+T GISAAR LTERH RAIZs
15,000,000 ¥ 14 = 15,000
365,000 270,000 25,0000 S4HZ71LHH) (202-3)
QUHIZ(ZTLDEIHED| 2L
30,0008 ¥ 1,000 = 30,000
QFEIIZFENAEY WHZA (235,000
o SimmOlsH A0L000& ¥ 2.000H = 150,000
o Tommi| & 1,500,0008 ¥ B0 4= 75,000
QAL 71Z2% 2 & 24 [POOL]
30,000,0008 X 14 = 30,000
QHED| 258 nAlSA
400,000 ¥ 1507H 4= 0,000
300,000 300,00 DP = OHH| (202-4)
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ZH(T00) A%TARHIE THOID SRHIS AZTE) SH 2202 ASTH 27 EEEEY
t = iy | puzsy [z o2 4 = 9 =
2y B Mo = (4) (B) (4-B)
OZ+EETF WA
50000008 X 20H4= 100,000
Orzordt Wil 3 HEVN0IESA
100,000,000 X 2H4= 200,000
470,000 336,000 134,000 IEHZHHI (200-5)
QT Y TS TAPOOL]
250,000,008 X 14= 260,000
OH =8 WR(dg) 2 WEFT2
3,000,000 X 30K <= 90,000
QHZI2=ME DAISAKD=80~300mm)
50000003 X 4} 4= 20,000
QAEHE LH § ML
2,000,000 400 2 = 60,000
QE2IA WA 3 ML
60000003 X 5H 4= 30,000
Ta-203
SRR 62,914 62,770 144
48,519 48,793 2E H22EE (2035
REEEES
351,893,0008! X 85/1000= 29912
Qlz2l=z
351,698,000 X 2,576/100= 4,085
oETsTRE
351,898,000 X, 2, 7966/100= 9,842
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ER(T00) 2= AREHIE Zh(TID 2EHIE AR S 5205 Sci=2d| {CH3[E

[
[do

i = =
T = R TN 4 5 9 2
2y B TR} =l (&) (B) (A-B)
13,454 13,040 N AL LSS (203-6)
CEHEEEES!
£39,112,0008 X 2,105/100= 13,454
541 937 A2 R EAS (203-T)
OMHEARE2
351,808,0008 X 0,182/100= B4l
T4-205
HH| 15,650 14,500 1,150
15,650 14,500 1, 1500 242 & (205-1)
QT Ttg e
50,0008 %521 % 53 = 1,250
GISTA SN L US
20,0002 X 291 % 152 ¥ 128 = 7.200
OF LAY 44
20,0002 X 291 % 152 ¥ 128 = 7.200
Ta-206
SN2 1,500,000 0 1,500,000
1,500,000 0 1,500, 0000 @12 S HI (206-1)
G TEH JZ2AE 2 EEHEHE)
1,500,000, 00084 % 144= 1,500,000
Ta-z07
l=EX[] 4,920 4,140 780
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[
[do

ER(T00) 2= AREHIE Zh(TID 2-HIE AT S =020 2338 {CH3:Z

il = | At oH LA | A = 2t _
[ [ _— = a ,J\ = —_
2 B TR} El (4) (B) (&-B) ¢ 2 =
4970 4,140 ?Bliln SENZZEEZHY (074
OFHEZEUZET| g H221)
410,000 X 128 = 4,920
714-209
TH2H| 29,239,200 29,060,650 178,550
46,500 39,500 0000 2t 2| (200-1)
QEEUELD| Y
300020 % 1,000 = 3,000
QT MATHH
300.0008 * 1355 = 40,500
QT ME A PHALHTE
150,000 X 204 = 3.000
29,192,700 29,021,150 171,550 =22 (209-4)
FEEEEETE! (21,571,500
o BHEZ 1165 » 160.000E » 3L = B.460.500
o MER2 2168 » 150,000 ¥ 3652 = 15111000
QRHEL 2UH2 (7,621,200
o HHIE2 9421 % 00002 ¥ 32 - 2.401.700
o NER2 2202 ¥ 65,0008 ¥ 3R = 5,219,500
714-300
AM0E 22 60 6,100 16,500
T14-305
JIERE0IE 22,500 B,100 16,500
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ERC0) = ARZHIE TR0 ZEHIE HTRONY) S S:0306) JEREA0A (CHELH )
Ut = ] At o FHLA | Ao = 2t ]
[ [ _— = [==] ,J\ - =
@y | M B = (8) ®) (4-B) & &8 ) =
22,500 6,100 16,500[F] D121l & 42 (305-4)
CURHU M2 LS
20,000,000 % 14= 20,000
O=E3+MD B4
260,000,000 X 10/1000= 2,600
TS
ELlf ] 1,155,504 1,019,673 135,531
T5-100
EEEN B0, 347 732,14 73,201
51
pape B 703,807 B42,042 B1,765
427,895 383,173 38,?22“ J8Z (01-1
Ol=seURE) (390.177)
o AZ{THE[HATR 4,754 910F X120 x12& = b7,053
o ba(Zd) 20225003 X120 X 128 = 33870
o ig(Z2) 2,204 BO0E X 32 X 128 = i, 246
o 1217 1,605,000 421 X128 = 30,480
o Bat1d) 15734008 %421 X 12& = 10,524
o 32014) 14166007 X 32 X 128 = 60,55
QI+
390,177,000 X 0.8 % 1/12= 26,012
OHEMAH|
390177000 & 3% = 11,706
110,676 94,829 15,8&?P 2EH(101-2)
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EHTO00) AT ANEHIE ZhiTID ZYHIE HZh(NE) ZEEEH =:0101) BA4EE L (T )
il = AFOH F{LA = | AOH = 2t ]
@&y | A 2 =1 "% |T® | W oog oz

QEZFEHIEEIDHIZEE) (15,540)
o 901 130,000 %221 X128 = 3120
o 2~2540/0 10,0002 X321 X128 = 3,960
o 15~200(2k BO.000R 721 % 128 = 6,720
o 10~1940/2¢ BO000 %221 X128 = 1.440
o b 10202 BO.0002 121 % 128 = B0
QUF=E (3,262)
o BS18) 1026002 %121 X128 = 1.232
o T2l 974402 X120 X 128 = 1170
o 92416) TLEI0Z %120 X 128 = 860

QIETY
20,000 1621 % 254 X 128 = 12,192
QAT R =25 (4,131)
o DETHS 369,700 » 1620 X 0,15 X 42| = 3,550
o STt 47,7008 #1620 2 019 % 43]= hil
GSrURsE (9,960)
o zHEH =2 40,0002 221 % 128 = 960
o ArACHOTIM AT B0.000R #1521 ¥ 128 = 3,000
QA2 R S (B5,291)
o g 94718 W10 HE0AIZE K 128 = h.683
= 00363 % 320 KEDAIZE X128 = 14,465
o T2 T2102 % 421 K E0AIZE X 128 = 17,304
2082 BLA6T W 420 XE0AIZE X 128 = 15,507
= B 7942 300 W EDAIZE X128 = 10.430
o H2MHAH| 63,309,000 X %= 1,902

24,960 21,840 S,IzﬂP HUZ4H (101-3)
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[
[do

Bh(T00) AT AIRIHIS ThTI0) YYHIS HEHTIE) LUBEH Si10n BRE e
il = ] At o FHLA | Ao = 2t
[ [ _— = [==] ,J\ - =
@y | M B = (8) ®) (4-B) & &8 ) =
OEUZLY|
130,0008 % 1621 % 128 = 24,980
22,680 19,800 2,000 HEEZH (101-4)
Ohg
140,008 %1210 % 128 = 1,680
OF~73
130,000 % 790 % 128 = 10,920
Q8-52
120,0002 % 791 % 128 = 10,080
39,08 36,124 2,34 HEEIH| (101-5)
QEEZOH
300,177, 00080 3 1412 % 120% = 31,018
F5,030 50,207 4823 PR T 2L (101-6)
ORI
390, 177,0008) % 1412 % 200% = 5,030
13,548 20,063 ABSZIEY W7 &I (101-7)
QU A
390, 177.0008 % 1412 % 1/24 % 102 = 13,548
5102
H 22 FH| E1,800 56,400 5,400
6,000 6,000 DP Y ZY LA (102-1)
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BR(T00) 2T AKZHIE ThTI0D) SYHIE HIZh(TIE) SEERIZH S:0102) 2248 2H| (ChR|:H &)
dt = o & HAzpdy | 2 T T
2y B TR} =l (&) (B) (A-B)
Ciz
400,000 =121 X128 = 4.800
Oha
100,000 %121 %1238 = 1200
28,920 26,400 Z,EEDn HZEIH (102-2)
Oz
400,000 121 % 128 = 4.800
Ohs
250,000 %121 % 128 = 3.000
Qb
156,000 %321 X128 = b, 580
0Ts
140,000 =421 %1238 = 672l
Qb5
106,000 & 721 %128 = 8,820
25,880 24,000 2,000 SRR sy (102-3)
QEIEENERE
B0000& w1521 128 = 14,400
QITENIAFEER
B0000& 421 X123 = 3.840
Yzl =y
B0,000& « B2 X123 = 4,800
QU HAFEHER
B0L000 421 X123 = 3,540
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ZR(T00) AT AEHIE Zh(VI0) SEHIE AZhT5) ZHEEH S:0103) HIEAEE 4 (CH|:H 4
il = AFOH F{LA = | AOH = 2t ]
@&y | A 2 =1 "% |T® | W oog oz
715103
HIE A2 e 39,740 33,704 6,036
39,740 33,704 6056 42384 (1030
CHEMRES (39,740
o JE2 34000 X 22X 300z = 20,400
o M2 20,400,0008 ¥ 1/3= . 800
o N2H7| 2B A B3T0R % 220 XE0AIZH X 128 = 7,644
o AMRELE 34,0008 X221 X 202 = 1,360
o TEAL 34,0008 X220 KRR = 3536
T15-200
=32l 343,757 285,127 Bg,630
T15-201
o= 138,230 135,155 3075
£5,900 68,900 O 2etEH) (201-1)
e FApSIo ] Cotey
400,000 X 35l = 1,200
QA SEHA} 2
70008 ¥ 1,0008 = 7.000
QEDHEAMN =
15,000,000 ¥ 13/= 15,000
QST E M DI
50,0002 X 1005 = 000
QS ZEHER AU
40,0008 ¥ 50# = 2,000
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BH(TO0) A4 CAIZHIZ SRO10) SRHIS METHTIE) SUBRIH S:(201) 22 EH) (EH9) 3 )
4 = T TR T 4 5 7 =
@b 7 - = (A) (B) (4-B)
CENEEEETE
2,000,0008 X 4E= B.000
CIS0 14001 E A A
7,000,000 X 18 = 7000
OUE M MBI ANE)
30,0008 * 50 X 22| = 3.000
QEA FULA BH2
BA0.O00E X 128 = B.600
OLIIZE 0|2 242
20,000 X 10021 = 2,000
QA 2 2eimEE U3 7Y
300,000 128 = 3.600
OAGLIL 2T 2
40,0003 1008 = 4,000
OTTA H2 32U D M|
100,000 % 12& = 1.200
QUEPER Y HUERS
160,000 X 128 = 1,800
QA TETHIE A 2L
1600004 % 10&= 1,500
a0 900 O /=@ sH n-2)
Y B EEREE R E e
150,000 » 33| X 22 = 500
13,790 13,870 MP ZERZIAA (2013

_35_



ER(0) =2 AEHIE

[
[do

nl
—_

OHEaZ
80,0008 X 3H X 128 = 2,880
OEIMATES(LE S
500,000 ¥ 281 = 1,000
CUERY E3
400,000 X 13]= 410
OAMZIHEHE ST
00,0008 X 20H = 1,000
O AT HE |
7,560,0008 ¥ 13] = 7550
Q&7 2|
80,0008 X 178 = 960
38,280 38,260 O 222 (201-4)
03829
30,0008 ¥ 291 ¥ 2452 = 14,880
PEE L]
50,0008 ¥ 201 % 1172 ¥ 23] = 23,400
7,000 5,000 2,000 22! (201-6)
Qi SEEN 24EF =
5,000 521 % 52 X 128 = 1.500
0TIY YRET
0008 % 521X 102 X 128 = 3,000
QTIIY AT YRET
5,0008) X 1021 % 502 = 2500




[
[do

ERCID) = AZHIE TROVID 22HIE HThOAL ZEECH =200 28= 30| {CH3[E
A

I = ity [EacHMe [ Z 2 4 2 9 =
@ 7 Mo e A) (B) (A-B) -
7,260 7,260 O 2HE @0-1
oA Uitz
2450002 % 128 = 2,940
QT2 Uit
180,000 X 204 ¥ 128 = 4,320
2100 945 1155 2| (201-6)
OFE T RE
1,0002) ¥ 20¢ X 1052 = 2,100
5202
AETH 2T 28,005 24,725 3,280
13,565 9,585 4,00005) AL TSR 244 (202-1)
HEFAMH|
1,8798 X 2,23mt= 1,202
QEDFIH|
1.8798 X 1,800m= 3,383
QiHsER}
3,000,0008 % 104 = 3,000
QEYSEAL
3,000,00080 10§ = 3,000
14,420 15,140 MEDP %55 BT E | (202-
QELEN T2 FX| 24|
,600,00080 X 14 = 6,600
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EROTO0) - AFRHIZ ZhTID 22HIE AThiNG) SHECIH 20202 AL ZH 7 A (ChY| = 2
il = | A 04 T[] A EET .
[ — —_ = = ,J\ == -
@y | M B = (8) ®) (4-B) & &8 ) =
Ortlge| T2 03 R
1,100,0008 %149 = 1,100
QEHOIR FRLxH|
1,440,000 %19 = 1,440
OREDETHMAZ| T2 FR|E
2640 000= X 14 = 2,640
QUDAMNRER| T2 O FRE
2640, 000= X 14 = 2,640
T15-2038
Scl=4H| 78,242 G017 18125
E1,560 45,267 16,233 92552 (203-5)
OHEFER
443,735,000 ¥ 85,/1000= 37718
QUHZEHS
443,730,0002 X 2 576/100= 11.431
oETATREE
443,730,00021 ¥ 2 7968/100= 12.411
15,674 14,118 1,?55“ HAEHZEF (203-6)
0TTEEREE
754,094,9902 ¥ 2 105/100= 15,874
= 1] 737 ?En DTG A2 (203-7)
OHiHEARE2
443,730,0002 ¥ 0.182/100= a0s
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EhT00) AT ANZHIE Zh(TI0 ZTHIE AZh(T5) ZEEEEIH] S:0206) (b HE)
il = M| Ao MU ] A = 2t _
— [ — = = ,J\ == -
Db 3t 3t El (&) (B) (4-8) a2 4 =
T15-205
HHl 22,300 22,300 I
99 3010 22,300 U &S 0H (205-1)
CEIY I=E BREA
20,0002 X 521 % 52 X 128 = 6,000
Q&7 2|8 &
100,0008 %52 % B3l = 2,500
QT AT Sk HERF
RO0002 =521 % 202 = R.000
OFRY I THORHA EAt
10,0008 x 421X 102 X128 = 4,800
QEFHAEE BREA
100,0008 =521 % 5zl = 2,500
i Ttg el
100,0008# = 320 % 53l = 1,500
206
M HEH 15,000 0 15,000
15,000 0 15,0000 =22 (206-1)
QLETHHEIN E
15,000,000 * 12| = 15,000
5207
AREE 14,980 14,080 30
3,000 5,000 DF JBZZHEEIMH (207-1)
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IR0} = ARZHIE TR0 ZEHIE HTROAL) ZEECH = il HE)
2 B Ho = (A-B)
OOz EEFRIN|
2500008 % 122 = 3.000
7,000 7,000 O] A2 2 (207-3)
Ol w22 HTAIDS AIMET
7,000,000& = .000
4,980 4,080 S0 S HEHYRETH (207-4)
OFHETELF T2 4321)
416,000 % 128 = 4,940
5205
AR EZH| 7,000 28,750 AZ1,750
7,000 28,750 A1 TS0 B AL S (208-1)
QEME SUFEE 2201 = ArdE
10,000 x 300Z = 3.000
QIIEM ML itz
BO0.000F = 20K & d4zl= 4.000
715-20
HEH| 40,000 I 40,000
40,000 0 A0,000[] 2etHEH) (208-1)
QA Al HEFAMIZ) 22
10,000,000 & d== 40,000
T15-300
22013 B, 400 2,400 4,000
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ZR(T00) AT AKRHIE THID) SYUHIE HIZHTIE) SHRIZH] S:(305) JIEFREA0H (Che):H 21
U = ] At o FHLA | Ao EET
[ [ _— = a ,J\ = —_
@y | M B = (8) ®) (4-B) & &8 ) =
15305
JIEREA0IH E,400 2,400 4,000
£, 400 2,400 4, D00[E) 2 AHeHl 2 442 (305-3)
OEHASH 4 3 2Ha|
20,0008 X 802 X 43 = £, 400
TE
Q#E—J#H%JE*EI 1,447,108 1,344,356 102,752
TeE=100
02| 1,149,959 1,067,402 82,557
T1E-10
HAdE 960,147 894,4% F5, 657
BR1,397 52,553 34,7440 7122 (01-1)
G722 FLESE) (511,911
o B2(2T) 24208002 ¥ 291 X 178 = £8,292
o 72013 1,708, 40084 321 ¥ 128 = 61,503
o B2(18) 1,726,900 1421 ¥ 128 = 290,120
o 5214} 14166008 X621 ¥ 128 = 101,995
QEZ2+Y
B11.911,0008 ¥ 0.8 % 1/12= 34,128
O HZM ]
B11.911,0008 ¥ 3%= 15,358
168,864 143,540 25,3240 4= (101-2)
OEHZLEMBIEINDIMNSEEY (24,000)
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P | (101-4)

IR0 ST AEHIE THIE AZh(NE BoFENREH S:000 BAEE S (Che)FH 4
U AFOH T | A oM EET ] _
| | e o) o8 I =
o 2901 & 130,0008 =200 %128 = 3120
o 20~28A0| 0t 10,0008 X221 X128 = 2,640
o 15~2040/8k B0.000%) X 1621 X 128 = 15,360
o 10~1540] 2t BO000 421 X 128 = 2.8a0
QUF=E (3,674}
o B3(29) 93,0008 X121 X128 = 1116
o 32017 T304 X100 K 12E = a1
5 52015 B9, 8408 X221 ¥ 128 = 1817
QIESE
20,000 = 2620 % 2,54 X128 = 19,080
QRIAEHI R E 25 (453}
o DETH 369,7003 X 2591 X 0,15 X 43| = 5546
o ZEH 477008 % 2591 % 0,19 % 43| = 007
QSRR TEY)
R00002 X 2521 X 128 = 15,000
GAE 2R {100,687
s B2 00362 X% 290 XR0AIZE X 128 = 9,644
o Ta T2108 X 300 X EOAZE % 128 = 12,978
282 BAGTE » 1421 W EDAIZE X 128 = Rd.273
o 92 B 7948 X B2 X RDAIZE X 128 = 20,559
o HEMNAH| 97, 154, 000 » 3% = 293
39,000 38,240 JEUY B2 AH) (101-3)
GEUZAY
1300008 %2521 X 128 = 39,000
36,600 34,440 2,160
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BHT00) 4T AZHIE ThTID SZHE HERTE) B2L=E1=EH 20101 B3 (CHe:HA)
uf 3 ] A HAZRMY | Z 4= 9 =2
2h 7 ooz = (&) (B) (4
OB~-72
130,00084 %521 X 128 = 7,800
08~9=
120,000 ¥ 2021 % 128 = 28,800
ARER 50,373 B9 2= EMH (101-5)
CEEEIH|
511,911,000 %1712 % 120% = 51,192
85,319 80,209 5, 1TO[E) ZFAI &l (101-6)
QO IHAIRIEH]
511,911,000 %1712 ¥ 200% = 85,319
17,775 21,040 3,265 @2k 4 (101-7)
G2 A]
B11,911,0008 ¥ 1412 % 1/24 % 102 = 17,775
FE-102
z DAY 85,800 83,460 2,340
53,960 32,580 1,380 =22 24| (102-2)
Q62
55,0008 %291 X 178 = 3720
Q72
140,0008 %320 X 128 = £, 040
o832
105,000 3 2001 % 128 = 28,200
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ZRTO0) A2TARZHIS SR(TI0) SEHIE HEHTIE F4T2E7RTH S:(102) 2248 2| (T3]

[
[do

il = | At oH LA | A = 2t _
— 1 o _— = [==] ,J\ = —
(ohy B TR} El (&) (B) (4-B) &8 J o=
51,840 50,650 B0 S22 248 HEH (102-3)
O UEMNERE
80,0008 * 272 X 123 = 20,5920
CRaEEERE
80,0008 * 272 X 123 = 20,5920
TIE-103
HEAZ R 104,012 89,447 14,565
90,720 71,240 19,4400 2 AT 22 (103-3)
Qe FRHENZY
420008 X B2 X 30 X128 = 80,720
13,242 18,167 A4 5750 BT R HE A2 (103-4)
O3
T2 000 %521 X128 = 4,320
Gz
4, 320,000= * 4/12= 1.440
QuEH]|
1.860F x 521X 202 X 1238 = 2,032
Q=4
4,000 ¥ 521X 20 » 128 = 4,800
Qo=
B0,0002 %521 % 28] = R0
TIE-200
= 32Hl 297,148 276,954 20,195
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ER(I00) &= AFEHIE g2HE AZhiie 2L SEAECH S(E200 2 =R
il A OH H (] A 21 N }
f | = T “n:EBTL ) oos =
TIE-201
2HES o 111,810 102,753 9,022
RE1R0 RE,700 1,450 2gt4-2H| (201-1)
ORI HMHAAZRNSEL]IE)
5,000 ¥ 35084 = 26,250
QR UR|M E8E IEI2H ADE
1,500,000 X 128 = 18,000
QALY E Y
2,500,000 X 14 = 2500
O AET A TA4])
200,000 X128 = 2400
Qi EtrT 22107 HES RIE
B0& = 80,0000 = 4,800
RN, 22T E
200 15,0005 = 3.000
G A e
100024 x 100 X128 = 1,200
31,560 27,804 3,?55“ SSESYHA (201-3)
DAIHEE R
2208 » 0008 X128 = 23,760
Qaz AE0H =+
ROR % 10,0008 X128 = 6,000
OAZEDIOEES
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200,000 % 162 = 3,600
CHdEEEFE E3& A2
B0.000F X 163 X 23|= 1400
9,600 5,300 SUOEY =2 (201-6)
OESFt D
B0 » 223 X b X 128 = 6,600
Qi =2 AidH
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2100 b,264 BHSn it (201-1)
o=\ 2itz
242 000 % 128 = 2,904
Qe gntz
1540008 #1228 X 2= 3,656
CadEEEFE o et
B00, 000 X 10H = 500
T16-202
NETHIRTHI 24,960 24,040 el
10,560 9,640 SOEY A S TSRS 44 (202-1)
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4,440,000 ¥ 15 = 4.440
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O=27=4E PDARAIZSH
400,000 X 128 = 4,80
ORFEHE PDARHIZ| 2L
60,0008 X 224 = 1,320
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27| S 111,379 104,92 2053
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720
HHIHE 193,795 213,19 15,3939
7
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